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� 'HPRQWHHU�KHW�GDVKERDUGNDVWMH�HQ�YHUZLMGHU�GH
GHNSODDW�XLW�KHW�GDVKERDUG�

� 'H� YRRUJHWURNNHQ� EHGUDGLQJ� YRRU� GH� UDGLR�
LQVWDOODWLH�YLQGW�X�DDQ�GH�DFKWHU]LMGH�YDQ�GH�GHN�
SODDW�� .QLS� HHQ� HYHQWXHOH� NDEHOELQGHU� GRRU
ZDDUPHH�GH�EHGUDGLQJ�DDQ�GH�GHNSODDW�YDVW]LW�

� 'XZ�KHW�PRQWDJHIUDPH�YRRU�GH�UDGLR�LQVWDOODWLH
LQ�KHW�GDVKERDUG�

� 6OXLW�GH�EHGUDGLQJ�YDQ�GH�KRRIGHHQKHLG�DDQ�HQ
PRQWHHU�GH�HHQKHLG�GRRU�GH]H�LQ�PRQWDJHIUDPH
LQ�KHW�GDVKERDUG�YDVW�WH�GUXNNHQ�

� 'H�UDGLR�LQVWDOODWLH�ZHUNW�DOOHHQ��DOV�X�GH�KRRIG�
HHQKHLG� LQ�GH�YRUP�YDQ�HHQ�¦KXZHOLMN§�DDQ�GH
KRRIGHHQKHLG�NRSSHOW�

2SPHUNLQJ
=RUJ� GDW� KHW� PRQWDJHIUDPH� QLHW� ODQJV� GH
EHVWDDQGH� EHGUDGLQJ� ELQQHQ� LQ� KHW� GDVKERDUG
NDQ�VFKXUHQ�

2SPHUNLQJ
=RUJ�GDW�GH�EHGUDGLQJ�YDQ�GH�KRRIGHHQKHLG� WLM�
GHQV�GH�PRQWDJH�QHUJHQV�NOHP�NRPW�WH�]LWWHQ�
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